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https://trinket.io/python/56b98e9dd8dO

TR, KR

< > mainpy

15w syELEE | sV e

+

kS

14 ~ def gradient_descent(initial_x, learning rate=e.1, tolerance=le-6, max_iterations=106@):

15 x = initial x

16 ~ for 1 in range(max_iterations):

17 # WEONEZHE

18 gradient = f_prime(x)

19

20 # D x DEESE

21 x_new = x - learning_rate * gradient
22

23 # BREDHE (ZHOELE)

24 error = abs(x_new - Xx)

25

2 # BRET] ?ﬁzﬁu‘ﬂeﬂﬂ%-r

27 err-or‘istr' = "{:.10f}".format(error)
28

29 # 27wtk D

30 print("2F » F", i+1, " x =", x, ", ;8% =", error_str)
31

32 # AN RELNNTHEEANEF v T
33+ if error < tolerance:

34 print(RELFE L7z x =7, x, * (RIEEE:", s, "B )
35 return x_new

36

37 # FA

38 X = x_new

39

40 print("PEL EFATLE")

a1 return None

42

a3 & {PHEAEORE SET

44 initial_x = 0.0

45 result = gradient_descent(initial_x)

46 value = "{:.10f}".format(f(result))

47  print("xD{E:", result, " & &, MEOEIE", value, "[Z7E 3"y

« ETHHEB URWEEI(E,

Py

—

N R N R R N R LR N

(27w, 59,

CERIRSND &7 hiEs

Result

J', 32, ': x =', 1.99881929579, ', iSE =', '@.8003961489')
7', 33, ': x =', 1.99841543669, ', &% =', '0.0003169125")
J', 34, ': x =', 1.99873234918, ', % =', '@.8082535301')
', 35, ': x =', 1.99898587927, ', &% =', '0.0002028242")
J', 36, ': x =', 1.99918876347, ', % =', '0.8001622593")
', 37, ': x =", 1.99935096279, ', & =', '@.0001298075')
~', 38, ': x =', 1.99948077029, ', E =', '0.0001038460")
7', 39, ': x =', 1.99958461633, ', & =', '@.0000830769)
T, 48, ': x =', 1.99966769321, ', E =', '©.8000664613')
', 41, ': x =", 1.99973415449, ', &% =', '0.0000531690")
T, 42, ': x =', 1.99978732351, ', i&E =', '@.8000425353")
', 43, ': x =', 1.99982985882, ', &% =', '0.0000340283")
T, 44, ': x =', 1.99986388716, ', iSE =', '0.0000272224')
~', 45, ': x =', 1.9998911e961, ', i&E =', '@.0000217781")
J', 46, ': x =', 1.99991288774, ', % =', '0.0000174223")
J', 47, ': x =', 1.99993031@03, ', i&E =', '@.0000139380")
T, 48, ': x =', 1.99994424799, ', &% =', '©.0000111504')
7', 49, ': x =', 1.9999553984, % =', '0.0000089202')
~', 58, ': x =', 1.9999643186, ' = '0.0000071363")
', 51, ': x =', 1.99997145489, ', % =', '@.0000057090")
o', 52, ': x =', 1.99997716388, ', HME =', '0.0000045672')
o', 53, ': x =', 1.99998173112, ', &% =', '@.8000036537")
J', 54, ': x =', 1.99998538486, ', &% =', '©.0000029230')
Z', 55, ': x =', 1.9999883@785, ', & =', '@.0000023384')
T, 56, ': x =', 1.99999064621, ', E =', '©.0000018767')
', 57, ': x =', 1.99999251693, ', & =', '@.0000014966")
~', 58, ': x =', 1.99999401351, ', &E =', '0.8000011973')

x =", 1.99999521@78, ', iS% =', '@.0000009579")

("MELELIE: x =", 199999521978 " (RiE@#:, 59, 'ED ')

("xD1E:

', 1.99999616868, ' & X, S@ﬂ@ﬁ(g

[RITIRT > | TRIT

6 0000000000°, '(C735")

« V—RXO—Fr=ESZTBATHERITIDIZLE0HEE

26
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@ trinket DIRD/R—

https://trinket.io/python/b6a1de735025

>z <

A

EITHEERM

main.py

LUl vaLUlE — 1_UuuULE_pi Lne (A )

# FEIBHLE
if curvature ==
print(" Eﬂiﬁ\tﬂ@h fFIELETT)

return None

# RO x DEEEE

X_new = x - gradient / curvature
# BEOHE (EROE(LE)
error = abs(x_new - x)

# BETDHSLT e THRT

error_str = "{:.10f}".format(error)

# 27 v FTEmth

+

print("ZF » ", i+1, ": x =", x, ", 33F =", error_str)

# ENREVHRRAANEF = v D

if error < tolerance:

print("EL T LIz x =", x, " (FiEEE:", i,

return x_new

# B

X = x_new

print("NEL FHA TLE)

return None

# MHABORE LET

initial x = .0

result = newton_method(initial_x)
value = "{:.10f}".format(f(result))

print("xM{E:", result, "0 &=, MHMOMET", value, "(2753")

« ETHHEB URWEEI(E,
V—RXA—R%=EBBZBATH

MED]

L

)

Kesult

Powered by )tnnket

("ZRFoT, 1, X

("2F»7, x

(CRFv7, 3_, X 1.99889123068, ',
X

0.8, ', BE ="

(R5vF, 4, ': 2.60000088735, ',
("WELFEL: x =, 2.00000088735, (FEm

('xDfE:', 1.99999997826, ' & =, FEHGIEIL",

RDKDCRRSND Z &= fEER

'2.8470907398")
2.84709073977, ', %ﬁ

'0.0481995091")

ME =, '0.0011096567')
= =, '0.0000009091')
#:', 4, '0D ")

[RITIRF > ] TRAT
EEITI D LETREE

'0.0000000008', '(C7i3')

5]\

29
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FERE (REDHDAMEIT)

JO0S/HAANOBEE flEx2-4x+ 4 Z U TUL\D
def (x):

return x**2 - 4*x + 4

CNZESZTWMX T, BloBEERTIER U THRELY (4
X2 —2x+ 1)

30
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TO9S LDE LG 5.

- BF)LODEM = ENALEEEDRR
e EF)LIF ax® + bx8+ ... =0 EUL\DOHBIAN
« EFILDIS A =% 201E
« EFILHMEMIRZE, T —INDESEIRLEL,
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@ trinket MIRODOR—=7% A <

https://trinket.io/python/755acbb36d6f

HITHRRND, RDOKXDICRRSND I L=

<>

61
62
63

« EITH R LRV EE (S,
« V—RXO—Fr=ESZTBATHERITIDIZLE0HEE

main.py
current_mse /= len(data)
# BRROER

for i in range(degree + 1):

coefficients[i] -= learning_rate * gradients[i] / len(data)
# IREEE
if abs(prev_mse - current_mse) < tolerance:

print("Converged at epoch”, epoch)

return coefficients

prev_mse = current_mse

return coefficients

# TADEM
train_data = generate_data(8)
validation_data = generate_data(8)

t ETLOELE
degree = 20
coefficients = train_polynomial_model(train_data, degree)

# BT -2 LRAET—FOREZEHN
train_mse = calculate_mse(train_data, coefficients)
validation_mse = calculate_mse(validation_data, coefficients)

print("HWT—2 1L 5P TFik
print("HREET— 42 TORE (MSE

B2 (MSE):", train_mse)
validation_mse)

#d@RT—2070Y b
train_x = [point[@] for point in train_data]
train_y = [point[1] for point in train_data]

Result Instructions

Polynomial Regression with Overfitting

Powered by “Ptrinket @
('Converged at epoch’, 638)

(CHNET—RITLDFTFHRDBRE (MSE):', 0.002105851846)
("REET—42 TOEE (MSE):', 0.00745778858154)

[RITIRT > | TRIT

ot
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%*Hi t %Lh\ﬁzﬂ%
L < WHEE
[T ] HENE EE

. - m = T - O
I (T
] m

PRADINZ—Y 3TADNRX—y 1007 RD/NX—
(458Y)) (8@Y) 1267650600228229401496703205376 & V)
F 1k 1kn 1 2 6 FfE)
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Dalibuse ok

- HS—EIE: 1 X 32x32 DIFE
— BZR3: 32 x 32 x 3, P 256
% 12000 ... 000 i&ED

\ J
|

7397{E D 0

c AFUAERE: 1088, > VU JRRE
44100Hz DIFE

— 10 x 44100, P&:E 256
#J 1000 ... 000 & D

1062033{E D 0

40



20094 A& DR R 5.
« IR HDIINE, FIMOEFENTE(CKD, THEEM
- IBFEEOHNIEDERE
[Fr+zatiaDfl]
« IERAZMEDIEFRRAL (rectified nonlinearity), 20098

« JEE(LEIEID RelLU, 20114

- ROWIT 77T~

- 1FAIME (L1, L2)

o FEERDAEE

« He OWJHATL, 20155

AV

« EXRIIET—FDFA, I>E1—5FDOEFER/EEHDLY
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Dalibuse ok

FEDOFEDIR UEIENE 20

EPOCHS=20
history = m. fit(x=ds_train[0],
y=ds_train[1],
epochs=EPOCHS,
validation_data=(ds_test[0], ds_test[1]),
cal Ibacks=[tensorboard_cal Iback], verbose=2)

sl —5 DIETE

HREET—H DIETE

42



FBRORORLZITOITOISLAERTHR B
BT —5ERWZEEZ 2 0EHRDIET . o

" log_dir = “logs/fit/” + datetine.datetine.now().stritime "5y SmEd-EHEMES")
tensorboard_cal lback = tf.keras.callbacks.TensorBoard{loz_dir=loz_dir, histogram_frea=1)

EPDCHE=20

\\_
history = m.fit{x=ds_trainl0], [::]
v=ds_train(l],

epochs=EPOCHS,
validation_data=ids_test[0], ds_test[1]}.
cal lbacks=[tensorboard_cal lback], verbose=2)

n.evaluate(ds_test [0], d=_test[1], werboge=2)

C» Epoch 1/20

1875/1875 - 85 - loss: 0.2589 - accuracy: 0.9282 - val _loss: 0.1427 - val_accuracy: 0.9534 - Ss/epoch - Sms/step
Epach 2/20
1875/1875 - 45 - loss: 0.1191 - accuracy: 0.9BB% - val_loss: 0.0944 - val_accuracy: 0.9713 - 4s/epoch - Zms/fstep
Epoch 3/20
1875/1875 - 45 - loss: 0.0778 - accuracy: 0.9783 - wal_loss: 0.0808 - val_accuracy: 0.9736 - 4s/epoch - Zms/step
Enoch 4420
1875/1875 - 45 - loss: 0.0973 - accuracy: 0.9828 - val_loss: 0.0786 - val_accuracy: 0.9795 - 4s/epoch - Zms/step

=
=]
=]
=

Epoch 6420 I_l. J— I
1875/1875 - 45 - loss: 0.0450 - accuracy: 0.9859 - wal_loss: 0.0743 - val_accuracy: 0.9765 - ds/epoch - Zms/step %/[ \
Epoch 6/70 ] e

1875/1875 - 45 - loss: 0.0343 - accuracy: 0.9892 - val_loss: 0.0762 - val_accuracy: 0.9736 - 4s/epoch - Zms/step

Enach 7/20

1875/1875 - 45 - loss: 0.0285 - accuracy: 0.9912 - wal_loss: 0.0720 - val_accuracy: 0.9791 - ds/epoch - Zms/step

Epach 8/20

1875/16875 - 4g - loss: 0.02%6 - accuracy: 0.9831 - val_loss: 0.0770 - val_accuracy: 0.8785 - ds/epoch - Zmefstep I“'q E =1 A — A

Epoch /20 ; G -

1875/1875 - 45 - loss: 0.0183 - accuracy: 0.9943 - wal_loss: 0.0774 - val_accuracy: 0.9792 - ds/epoch - Zmsfstep ,
Epach 10/20 Ry Ry
1875/1875 - 45 - loss: 0.0150 - accuracy: 0.9955 - val_loss: 0.0797 - val_accuracy: 0.9784 - 4s/epoch - 2ns/step — —
o iR — 5 IREET —%
1875/1875 - 4s - loss: 0.00141 - accuracy: 0.9956 - wal_loss: 0.0828 - val_accuracy: 0.9764 - 4s/epoch - Zms/step [] [J

Epach 12/20

1875/1875 - 4s - loss: 0.0107 - accuracy: 0.9965 - val_loss: 0.0821 - val_accuracy: 0.9786 - 4s/epoch - Zms/step —E
Epach 13/20 2 O) O)

187941879 - 45 - loss: 0.0108 - accuracy: 0.99687 - val_loss: 0.0914 - val_accuracy: 0.9774 - 4s/epoch - Zmsistep []ll_J\
Epach 14,20

187541875 - 45 - loss: 0.0085 - accuracy: 0.9974 - wal_loss: 0.0931 - val_accuracy: 0.9766 - 4s/epoch - Zmsdstep

Epach 15/20

1875/1875 - 45 - loss: 0.0068 - accuracy: 0.9981 - wal_loss: 0.0915 - val_accuracy: 0.9781 - 4s/epoch - Zmsfstep

Epach 16/20

1875/1875 - 45 - loss: 0.007B - accuracy: 0.9977 - val_loss: 0.0885 - val_accuracy: 0.9788 - 4s/epoch - Zmsfstep

Epach 17/20

1875/1875 - Bs - loss: 0.00B5 - accuracy: 0.9980 - val_loss: 0.0865 - val_accuracy: 0.9792 - 9s/epoch - 3ms/step

Epach 18/20

1875/1875 - 85 - loss: 0.0080 - accuracy: 0.9981 - wal_loss: 0.0836 - val_accuracy: 0.9785 - 9s/epoch - 3ms/step

Epoch 18/20

1876/1875 - 45 - loss: 0.00B3 - accuracy:
Epoch 20420
1875/1875 - 45 - loss: 0.0043 - accuracy: 0.9987 - wal_loss: 0.1108 - val_accuracy: 0.9781 - 4s/epoch - Zms/step

313/313 - Os - loss: 0.1105 - accuracy: 0.9761 - 394us/epoch - Ins/step
[0.1105121374130249, 0.9761000275611877]

=

L9881 - wal_loss:

=
=

017 - wal _accuracy: 0.9764 - 4s/epoch - Zns/step

=
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233
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253
254
255
256
257
258
259
268
261
262

264
265
266
267
268

main.py

EITHEN,

return X

= def main():

# o TIT— DR
= prepare_ sample data()
y*[e 1, 2] # T—R1UEH 3 Re. T—H2%7 FR1. T—H3E7 3 R2

# Fy kT OPMMILLWERT
W1, bl, W2, b2 = initialize weights_and_biases()
display_network_structure()

print("===== FEHORE ===
display_weights_and_biases(W1,

b1, W2, b2)

# 77— FFanF—L3r (FEIM

Z1, A2, Z2, A3 = forward(X, W1, bl, W2, b2)
print("FHEOFEEE:")

display layer activations(X, A2, A3)

pred = predict(X, W1, bl, W2, b2)
print("FEHEMOFR Y2 Z X :". format(str(pred)))

# N\wsdonRF—avics 42T 1R
W1, bl, W2, b2 = backpropagation(X, y, Z1, A2, Z2, A3, W1, bl, W2, b2)

print("===== FEHEOKE
display weights_and_biases(Wl,

# 747 FTORF—Lar (2EH®)

Z1, A2, Z2, A3 = forward(X, W1, bl, W2, b2)
print("#EHH®OFEE:")
display_layer_activations(X, A2, A3)

pred = predict(X, W1, bl, W2, b2)
print("EEHEOFR 2 5 R: {}".format(str(pred)))

main()

« ETHHEB URWEEI(E,
V—RXA—R%=EBBZBATH

RDKD[CRIRSND Z L=

+1 B Kesult 1= IMSTIUCTIONS

===== FEROKE ====

BHENATR:

1E+2BDEH:
Za1—0A21 »: -0.259 -0.717 0.683 0.783
—a—022 »: -0.936 9.8%9 @.155 -1.003

2BO/ISAFAR: -0.639 -0.238 -0.748 0,043

9]

2EHEBOEH:
Za—0Ov1 »: -0.193 0.117 -8.279
—a—0Z2 +: -0.317 -0.313 -0.880
—a1—0Z3 »: -0.611 8.739 0.540
—a1—04 »: 0.535 8.550 -0.883

3SEDINATFTA: -0.634 0.704 -0.639

0

FEROENLRE:

FIBO-_2—OVOESEE (Za—022F)

FT—4% 1: [0.500, 0.100]

T—4%4 2: [0.100, 0.800]

T—4%4 3: [0.200, 0.300]

0

F2BO=2—0 OFEME (Za—024@)
F—% 1: [0.5, 0.1] -> [0.000, ©.000, ©.000,
T—4%4 2: [0.1, 0.8] -> [0.000, 0.402, ©.000,
T—4 3: [0.2, 0.3] -> [0.000, 0.000, ©.000,
0

FIB/O=—21—0OFEME (Z2—023@)
F—% 1: [e.5, 0.1] -> [0.184, 9.703, @.114]
T—4%4 2: [0.1, 0.8] -> [0.178, 0.680, 0.141]
T—4 3: [0.2, 0.3] -> [0.172, 0.656, @.171]
FEEOFAIFX: [1, 1, 1]

8.335]
@.000]
@.000]

[RITIRF > ] TRAT
EEITI D LETREE
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- A[BHDRESTHE: 1 E1EAEDZE (deltal)
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EITHRN,

<>

233
234
235
236
237
238
239
248
241
242
243
244
245
246
247
248
249
258
251
252
253
254
255
256
257
258
259
260
261
262
A 263
264
265
266
267
268

« ETHHEB URWEEI(E,
V—RXA—R%=EBBZBATH

m

* def

mai

ain.py

print()
return X

main():

# HUTILT— 2 O

X = prepare_sample_data()

y=1[0,1, 2] # T—%1FY 5 Re, T—H2E7FR1. T—

# Fu b= 0OHBILLMERT
W1, bl, W2, b2 = initialize_weights_and_biases()
display_network_structure()

2319 3 X2

print(" FEAORE
display_weights_and_biases(Wl,

bl, W2, b2)

# 240—F7OnNF— 3 (FEW

Z1, A2, Z2, A3 = forward(X, W1, bl, W2, b2)
print("FEAOFEE:")
display_layer_activations(X, A2, A3)

pred = predict(X, W1, bl, W2, b2)
print("FE MO FRY Z A" . format(str(pred)))

# Nw270RF -3 vIZ&AEE (1E)
Wi, bl, W2, b2 = backpropagation(X, y, 21, A2, 22, A3, W1,

)

bl, W2, b2)

print(" = FEEORKE
display_weights_and_biases(M

bl, W2, b2)

# 247—F7ons— 3 (2B®)

21, A2, Z2, A3 = forward(X, W1, bl, W2, b2)
print("FEHRDFEE:")
display_layer_activations(X, A2, A3)

pred = predict(X, W1, bl, W2, b2)
print("FEFEOFALY T A {}". format(str(pred)))

n()

RDKD[CRIRSND Z L=

I= Instrucnons

+£ @ Result

===== FEEROKE

EHENATR:

1@-2BDEH:
Za1—AX1 »: -0.259 -0.717 ©.683 @.783
—a1—B22 »: -0.936 9.890 9.155 -1.003

2BO/INAFA: -0.639 -0.238 -0.748 0.943

)

2[@>3@DEH:
Za21—A1 »: -08.193 @.117 -0.279
—a2—AZ>2 »: -8.317 -0.313 -9.880
—a2—AZX3 »: -0.611 @.739 @.540

—a1—RA24 »: 0.535 0.550 -0.883

/O FTA: -0.634 0.704 -0.639

0

FEROEEE:

BIRO=21—O OFSE (Z2—022@) :
F—4 1: [e.500, ©.100]

F—4 2: [0.160, ©.800]

T—4 3: [0.200, 0.300]

0

F2EO =2 -0 OFESE (Za—02af) -
T—4 1: [@.5, @.1] -> [0.e0e, ©.000,
F—#4 2: [e.1, @.8] -> [0.000, 0.402,
T—4 3: [e.2, @.3] -> [0.000, @.000,
0

F3EOZa1—OVOFELEE (Z2—003E)
F—#4 1: [e.5, @.1] -> [@.184, @.703,
F—#4 2: [e.1, e.8] -> [0.178, @.680,
T—4 3: [@.2, @.3] -> [0.172, ©.656,
FFEROFRMIFR: [1, 1, 1]

.@00, @.335]
.200, 0.000]
.200, 0.000]

.114]
.141]
.171]

[RITIRF > ] TRAT
EXRITI D LETREE

4


https://trinket.io/python/44d08b044eb7

A4 5]
=

0281 00

O

) trinket DIRD/R—
https://trinket.io/python/de02afe28320

>z <

EITHRN,

<>

214
215
216
217
218
219
220
221
222
223
224
225
226
227
228
229
230
231
232
233
234
235
236
237
238
239
240
241
242
243
244
245
246
247
248
249

Dtrinket » Run

main.py

y=1[0,1,2] # T—41IsFRe. T—H2129 7 A1,

-

? Modules

# 4y FI—O0HYMELEWERT
Wi, bl, W2, b2 = initialize_weights_and_biases()

display_network_structure()

PENORE

print("

display_weights_and_biases(Wl, bl, W2, b2)

# F4+T—FFRRF -3y
71, A2, 72, A3 = forward(X, W1, bl, W2, b2)

print("F B H OFIEE:")

(FEE)

display_layer_activations(X, A2, A3)
pred = predict(X, W1, bl, W2, b2)

print("FFROFRMI R

# 200EINF T EF XM
print("p==== PERME ==
for epoch in range(10@):

{3

format(str(pred)))

71, A2, 72, A3 = forward(X, W1, bl, W2, b2)
W1, bl, W2, b2 = backpropagation(X, v, Z1, A2, Z2, A3, W1, bl, W2, b2)

if (epoch + 1) % 1 == @:
pred = predict(X, W1, bl, W2, b2)

print("THR w2 {}:

print("

FHM2ZA = {}".

=== FEHROKE === =
display_weights_and_biases(Wl, bl, W2,

F—R3E9 5 A2

#1TKy 2 TEICRBERTE

2)

ol

# 740 —FIanF—Lary (FEF®R)
Z1, A2, Z2, A3 = forward(X, W1, bl, W2, b2)

print("¥EHROFEHE:")

display_layer activations(X, A2, A3)
pred = predict(X, W1, bl, W2, b2)

print("#B&EOFREI T R:

main()

{3

.format(str(pred)))

format(epoch + 1, str(pred)))

« ETHHEB URWEEI(E,

V—XD— R =zE3TBFATH

RDKDCRRSND Z &=z

Result i= Instructions
F—#4 2: [0.1, 8.8] -> [0.242, 9.696, ©.962]
F—#4 3: [8.2, ©.3] -> [0.188, 8.697, @.115] @
FEH CD%H‘I?::R [1, 1, 1]
===== PPRIE =====cc=cccssmmcm=cmma=as
IRyy 1: FRIFZ = [1, 1, 1]
IRuy 20 FHIFA = [1, 1, 1]
IRys 3: FRHLIFZ = [1, 1, 1]
TRyY 4: FRISIR = [1, 1, 1]
IRy 50 FRVISFR = [1, 1, 1]
TRyS 6: FRISR = [2, 1, 1]
IRy 7: FRISFR = [2, 1, 1]
IRyy 8: FRISIR = [2, 1, 1]
IRwy 9: FRIFA = [2, 1, 1]
IRy 10: FRYSA = [0, 1, 1]
IRy 11: FRYIA = [0, 1, 2]
Ifvs 12: FREISR = [0, 1, 2]
IHRus 13: FRISR = [e, 1, 2]
IRys 14: FRMISA = [0, 1, 2]
IRyy 15: FRISR = [0, 1, 2]
IRyy 16: FRYSFR = [0, 1, 2]
IHRyy 17: FHIFR = [0, 1, 2]
TRy%y 18: FRISFR = [0, 1, 2]
IHRyY 19: FHIFR = [0, 1, 2]
IRyy 200 FRISR = [0, 1, 2]
Ihwu?y 21: FEYSA = [0, 1, 2]
IRyy 22: FRLSR = [0, 1, 2]
Ihwu?y 23: FHMIFA = [0, 1, 2]
IRyy 24: FRLSR = [0, 1, 2]
THus 25: FMISAR = [0, 1, 2]
IRys 25: FRISA = [B, 1, 2]
TIHRwY 27: FRISA =

E<H
ER1T9

mgzjiiﬂ
2 EH0EE

5]\
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